## **ORDER #003910**



Cyrano Rox Experience 530 Molino St Suite 104 Los Angeles, Ca. 90013

Order Date: July 19, 2023 Due Date: Upon Receipt

PO: Shipping Address: HOLLYWOOD ATHLETIC CLUB 6525 W Sunset Blvd Los Angeles, CA 90028

\*EVENT DATE IS TUESDAY, AUGUST 1ST, 2023\*

\*DELIVER & INSTALL SUNDAY, JULY 30TH, 2023 AT 7AM\*

\*\*SET UP THE STAGE FIRST\*\*

\*PICK UP WEDNESDAY AUG 2ND, 2023 AT 8AM\*

Description		Qtty	Price		Total
General					
	Purple Velvet Pipe and Drape (FOR ARCH WAY), 12FT HEIGHT X 8FT	2	\$100.00	Т	\$200.00
	Purple Velvet Pipe and Drape (BEHIND THE LIBRARY SHELVING), 12FT HEIGHT X 8FT WITH AN OPENING IN THE MIDDLE	1	\$100.00	Т	\$100.00
	Wired Cocktail Table	8	\$110.00	Т	\$880.00
	Dubai Cocktail Table	4	\$110.00	Т	\$440.00
***************************************	Orley Bar Stool (4) ON EACH DUBAI COCKTAIL TABLE	16	\$18.00	Т	\$288.00
1	Emory Cocktail Table, Black	4	\$120.00	T	\$480.00
rea.	Industrial Barstool	16	\$12.00		\$192.00
	(4) ON EACH EMORY COCKTAIL TABLE				
·	12FT DIAMETER ROUND STAGE WRAPPED IN MARLITE COVER	1	\$1,600.00	Т	\$1,600.00
			Total General		\$4,180.00

Description		Qtty	Price		Total
	Amalfi Presidential Bar, 6ft FOR CHECK IN DESK	1	\$250.00	Т	\$250.00
A	Industrial Barstool	4	\$12.00	Т	\$48.00
			Total CHECK IN D	ESK	\$298.00
LOUNGE SET #	1				
	Infinity Sectional, Taupe (4) PIECES EACH SET	12	\$0.00	Т	\$0.00
	Gem Coffee Table, Silver	3	\$0.00	Т	\$0.00
	Celine Ottoman, Taupe (3) OTTOMANS ON EACH SET	9	\$0.00	Т	\$0.00
	Lounge Set #1	3	\$750.00	Т	\$2,250.00
			Total LOUNGE SE	Γ#1	\$2,250.00
LOUNGE SET #	2				
	Leonie Sofa, Beige	4	\$750.00	Т	\$3,000.00
	Wired Coffee Table	4	\$0.00	Т	\$0.00
	Celine Ottoman, Off White (3) OTTOMANS ON EACH SET	12	\$0.00	Т	\$0.00
			Total LOUNGE SE	Γ #2	\$3,000.00
LOUNGE SET #	3				
	Everly Sofa, Taupe 8ft	3	\$750.00	Т	\$2,250.00
	Midas Coffee Table	3	\$0.00	T	\$0.00
	Celine Ottoman, Taupe (3) OTTOMANS ON EACH SET	6	\$0.00	T	\$0.00

Description		Qtty Price			Total
		Te	otal LOUNGE SET	#3	\$2,250.00
LOUNGE SET	<b>‡4</b>				
	Ayla Sectional	3	\$150.00	Т	\$450.00
	Celine Ottoman, Off White	2	\$55.00	T	\$110.00
		To	otal LOUNGE SET	· #4	\$560.00
LOUNGE SET	<b>#</b> 5				
	Infinity Sectional, Black (5) PIECES PER LOUNGE SET	10	\$0.00	Т	\$0.00
	Celine Ottoman, Black (4) PIECES PER LOUNGE SET	8	\$0.00	T	\$0.00
	Gem Coffee Table, Silver	2	\$0.00	Т	\$0.00
	Lounge Set #5 Fee	2	\$750.00	Т	\$1,500.00
		To	otal LOUNGE SET	#5	\$1,500.00
STAGE #1 (FO	R DJ)				
	Stage, 6ft x 4ft x 12" Height with Marlite + Decal Cover	1	\$550.00	Т	\$550.00
	Stage, 8ft x 4ft x 8" Height with Marlite + Decal Cover	1	\$675.00	Т	\$675.00
		Total	STAGE #1 (FOR	DJ)	\$1,225.00
STAGE #2					
	Stage, 2ft x 2ft x 8" Height with Marlite + Decal Cover	1	\$250.00	Т	\$250.00
	Stage, 4ft x 2ft x 8" Height with Marlite + Decal Cover	1	\$350.00	Т	\$350.00
			Total STAGE	#2	\$600.00
STAGE #3					
	Stage, 5ft x 4ft x 12" Height with Marlite + Decal Cover	1	\$550.00	Т	\$550.00
	Stage, 6ft x 4ft x 8" Height with Marlite + Decal Cover	1	\$550.00	Т	\$550.00
			Total STAGE	: #3	\$1,100.00
OPTIONAL					
	SEMI CIRCLE STAGE 4FT X 8FT - \$525 EACH / \$1050 TOTAL	2	\$0.00	Т	\$0.00

Description		Qtty	Price		Total
	HALF ROUND STAGE 4FT X 8FT - \$525 EACH TOP FUCHSIA/SIDES: CHECKERED	1	\$0.00	Т	\$0.00
	SEMI CIRCLE 6FT X 24" WRAPPED IN MARLITE COVER - \$345 EACH	1	\$0.00	Т	\$0.00
	CURVED STEPS WITH MARLITE - \$375 EACH FOR 6FT STAGE	1	\$0.00	Т	\$0.00
			Total OPTIONAL		\$0.00
Services					
	TRUCKING FEE	2	\$250.00		\$500.00
	EVENT INSTALLATION FEE	4	\$275.00		\$1,100.00
	EVENT BREAKDOWN FEE	4	\$200.00		\$800.00
Notes			Total Produ	ucts:	\$16,963.00
		Total La	Labor/Services/Misc:		\$2,400.00
			Ta	xes:	\$1,415.72
			Discou	ınts:	(\$2,060.70)
			Т	otal:	\$18,718.02
			Payme	ents:	(\$5,000.00)
			Bala	nce:	\$13,718.02